n I NORKPLACE® ARTICULATING MONITOR ARMS

an Accelevation Company ASSEMBLY INSTRUCTIONS

FIXED OR FLOATING ARTICULATING ARMS AND STIFFENER ASSEMBLY: Do not remove components from cartons prior to
assembly. Use the packing list to locate components. Keep hardware kits in labeled packaging until ready to use.

Connector
Pin

ASSEMBLY TIPS
e Fasten Solid Uprights to rear of Leg

5
Sections using KIT-08. i g
e Floating Arms may be mounted to 1 / am
table in a variety of ways. Refer to Retaining 4 1l
Flexmount Instructions for Ring’ i
e . ) Mounting Bracket _| |.p Retaining
additional options (hardware & < Ring

mounting provisions included). FIXED HEIGHT ARTICULATING ARM: Fasten mounting bracket on Upright using
KIT-56. Insert arm section into mounting Bracket, fasten in place with retaining
ring. Use connector pin to mount monitor attachment to arm section, fasten
retaining ring.

(I —

e All Articulating Arms accept
standard 75mm or 100mm flat-
screen monitors.

e |f additional arm extension is o
wanted for Fixed Height Arms, an "§"
extension arm is available to order. ;
! Arm
A Pin
HARDWARE INCLUDED '
q 8
L Bracket =%
KIT-56
5/16” Flat Washers (2) FLOATING ARTICULATING ARM: Fasten large “L” Bracket at desired location on
3/8-16 Flange Nuts (2) Upright using KIT-103. Attach mount column to “L” Bracket using the 3/8-16 x
3/8-16 x 3/4” HHCS (2) 1/2” BHSCS and 3/8-16 Nut found in Flexmount hardware kit. Insert arm pin into
1/8” Hex Key (1) mount column.
KIT-103

TOP VIEW T‘
|
UPRIGHT L
RETcy
|
= =
|

W STIFFENER
~JTL
=

5/16” Flat Washers (2)
5/16-18 Flange Nuts (2)
3/8-16 x 3/4” HHCS (2)

KIT-08B

5/16-18 x 1-1/2” HHCS (4)
5/16-18 Flange Nuts (4)
5/16” Flat Washer (4)

SINGLE UPRIGHT STIFFENER: For mounting Articulating Arm on Single Upright
After arm has been mounted to Upright, place stiffener in rear channel of
Upright, fasten using KIT-08B. Tighten to ensure stiffener is firmly set in Upright.

WORKPLACE MODULAR SYSTEMS 800-258-9700 LIT #A0-03 (REV. 08/18)



